Answer Key for the written examination for selection to the post of Commercial cum
Ticket Clerk in PB Rs.5200-20200+2000 GP against 33 1/3% General selection in
Commercial Dept.
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Q No Answer | Q No Answer Q No Answer
1 d | 41 a 81 b
.2 d 42 b 82 a
3 C 43 d 83 g
4 d 44 c 84 C
5 a 45 d 85 a
6 c } 4B a 86 d
7 b . 47 b 87 d
8 b 48 a 88 b
9 C 49 c 89 c
10 d 50 b a0 c
11 a 51 b 91 b
12 b 52 a | .92 b
13 b 53 a 93 d
14 a 54 C 94 d
15 d b5 b 95 .G
16 b 56 c 96 a
17 a 57 C 97 C
18 a 58 d_ | 08 d
19 d 59 c | 99 c
20 d [+10] a 100 c
21 d 61 c 101 - d
22 c 62 d 102 b
23 c | 63 d 103 a
24 a 64 d 104 a
25 b 65 a 105 b
26 d - 66 b 106 C
27 d | 67 a 107 c
28 a G8 a 108 c
.29 -C 69 b 109 - b
30 & 70 a 110 a
31 a | 71 c
32 c | 72 c
33 a | 73 b
34 c 74 b
35 d 75 d
36 b 76 c
37 a 77 C , :
38 ¢ 78 a
-39 b 79 c J
- 40 a 80 c
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Gf‘lxlﬁ'*ff a? fere Glaa'ﬂl Lnstructions to candidates:

1.

S Uy aO'f%']'Q 1 & Each questlon carries 1 mark.

PEREREC 11duaiﬁq1m%, 110081 % & 100 T BT IR S fErd B) @y W@ 101 | 110 9@
ST & Fafid Uy ) ol 100 U4l & IR forgn e @ o Yafia U S@fd@ §1 Total No. of

questions are 110 out of which 10 questions are on Rajbhasha (From Q.Ne.101 to 110) which are

optional. The total marks for which the paper is attempted including Rajbhasha is for 100 Marks.

mﬁﬁ.jﬁm%mm'ma’rﬁmﬂr{m;ﬁmml

Question No. 1 to 50 is test on English Knowledge, hence should be answered in English.

TA® U & U &, g7, qwas U EH'H%IW%Q T E| Fach guestion has four options a, b, ¢, d.

&mﬁ P TR GﬁQﬂS{R wfie & & aﬁﬁg udl & IW 1%‘1@4’[ Answer the obJectwe C[LleStIDI’IS only in the
OMR sheets supplied.

¥ 9 T AR =M H 99 o1 fanft veR & FRe @ S 9 81 Indication of name or any

identity is prohibited in question paper or OMR sheet except in the columns provided in the OMR
sheets.

%ﬁ?,lwwm,mﬁﬁmmﬁwﬁﬁwmmﬁmmﬁﬁﬁqﬁﬁﬁ

Use of calculator, logarithmic table, mobile phonés is not allowed.

a@guﬁ%wﬁ%méﬁgmmﬁ?m%@w%@m@%mmmaﬁa"r
Sty 8T 8t Ul e b T @ o O el & IR ¥ 0 1 ol R o, e s & R e Tifes

i 1 gl

In answers to objective questions no correction of any type of cutting, overwriting, scoring off ticket
answer and ticking another answer in any way is not permitted. In case of corrections/over writing is
made, zero mark will be given to such answer. There will be NO negative marking for wrong answers.



1. Choose the exact meaning of the Idioms/Phrases marked in bold. There is no need to rake up an'old quarrel.
A) start B)end C) forget - D) revive

2. The synonym of ENTERPRISE is.
~ A) hospitality B) immunity C) imagination D) undertaking

. The synonym of LUCRATiVE is
A) crucial B) fragile C) profitable D} decisive

Lid

4. The synonym of IRKSOME is
A) easy B) pleasant () tedious D) irate

" 5. The synonym of OBSTINATE is

A) stubborn B} frightened C) selfish D) cautious
6. The synonym of QUEER is _ : , .
A) Interesting B) boring () strange D) clever
7. He must give us more time we shall not be able to make a good Job of it.
AYwhether . B)otherwise C) consequently . D) therefore
8. The rising of living is as hard on country families as on city families.
A) amount B) cost C) expense D) increase

9. Only two of the candidates can be seriously " for this post.

A) Contemplated - ~ B)commended C) considered 7 D) reviewed
10. The rain soon worked its way the roof of the old cottage.
A) over B)in C) by D) through
1.7 the children for you while you are out,
A) look after B) look for C) look on D) look out
12. While they were on holiday their house was broken and some valuable paintings were stolen.
A)ydown B)into C) about D) away :
13. If Diane doesn’t turn in the next five minutes, then we’il have to go without her.
A) out B)up C) off Dyin ' K

14. The antonym of FLIMSY is
A)strong B) evil C) weak D) minute

15. The antonym of OVERCAST is
AY Muddy B} misty Cylevel . D)clear

16. The antonym of REBEL is
A) Mutiny B)suppress  C)fight D)rise up

17. The anlonym of PROLONGING is
A) Shortening B) continuing C) extending D) supporting

SOUTH e



18. The antonym of ABBREVTIATE is
A) Léngthen B) shorten C)zreducc Dycut

19. Select the alternative that is the best substitute of the phrase. ‘a loud, harsh, piercing cry’.
- A)Howl B)Noise C)Scream D)Screech

20. Correct the following sentence; .
The employees of this compuny demand higher salaries for a very long period of time.

© A)The einploye_é of this company demand higher salary for a long time.
B) employees ol this company demands higher salary for a very long time,
C) The employees of this company are demanding higher salaries for a long time.
D)The employees.of this company have been demanding higher salaries for a very long time.

21. Pick the correct word for the phrase *Back to the drawing board’.
A)An inventive person find fresh ways to solve a pro‘blem
B)To solve a problem go back to the rool cause i
" C)An artist is always happy if he gets a chance to go back to painting
D)An idea has been unsuccessful and that a new one must be devised

22. What is-the best alternative for the phrase, ‘An achievement or something desired fail to be attained by

someorie’? ,
A)YTo delude B)To eschew  C)To elude D)To shirk

23. Check for error in this sentence and correct the same
By the time she reached there, he left the place.

A)By the time she reached there, he had leave the place.
B)By the time she reached there, he leaved the place.
C)By the time she reached there, he had left the place.
D)No error
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24. Choose the indirecl speech of the sentence. Mother said “We are going to have supper”.
. Mother says . -
'A) they are going to have supper B)they were going to have supper
~ C) that they would have supper ‘ D) they won't have supper

25. Choose the indirect speech of the sentence. He has just said, “I want to speak to you”
~ A) he wants to speak to me B) he wanted to speak to me
C) I'want to speak to her * D) he had wanted to speak to me

26. Choose the direct speech of the sentence. I wondered how many discoveries went unheeded.
'A) 1 said, "How many discoveries have gone unheeded?”
B) ! said, "How many discoveries went unheeded?"
C) I said, "Do discoveries go unheeded?”
D) 1 said, "How many discoveries go unheeded?”



27. Choose the direct speech of the sentence. The teacher ordered the children to do their homework.
A) The teacher ordered, Children, do your homework!
B) The teacher ordered "Children, do your homework!"
C)The teacher asked, "Children, do your homework!"
DYThe teacher ordered, "Children, do your homework!"

28 You __missthetrainifyou _ ataxi ‘
A) will / don’t take B) will / won’t take C)don’t / take D) will / would not take

. 29..Ithinkitis _ _ beautiful landscape I've ever seen.

A) more B) much C) the most D) the best
30. The ot sheep was controlled by a shepherd and two dogs.
A) herd B) bundle C) set D) stack

* 31. Plural form of CRISIS
A)crises  b)crisises c) crisiss d)crisie

32. Plural form of‘LOAF a
A)loafs B) loave C) loaves D) loafes

33. Find the word which is out of the logic list
A) drought B) harvest C) mow D)crop

34. Find the word which is out of the logic list ‘
A) tremble B) quake C) squat D) quiver

35, What is the feminine of bachelor? _
. A) Gentlewoman B) Dame C) Heroine D) Spinster

36. Identify the error in the below sentence
The house has been built.in 2012,

A) the house B)has been  C) built Djin 2012

37. Correct the following sentence
You need not come unless you want to.
-A )You don't need to come unless you want to
B) You come only when you want to
C) You come unless you don't want to
D) You needn't come until you don't want to

38. Find the appropriate match similar to that expressed in the original pair
CIRCLE:ROUND :: TRIANGLE:

A) Square B) Rectangle C) Triangular D) Polygon




39. Find the appropriate match similar to that expreseed in the original pair
WISE:WISDOM:: ROUGH:

A)Roughshod B) Roughness C) Rougher : D) Rouge

40. Find the appropriate match similar to that expressed in the original pair
CAT:KITTEN:: PIG:

. A)Piglet B)Pigeon C) Pigs D) Cattle

41, What group do the words belong to? -
water, cola, gasoline, beer

- A) liquids B)solids =~ - C)edible food D) cleaners

“

42, What group do the words belong to?
" Alpha, Beta, Gamma, Delta

A) Roman Numerals B) Greek Alphabet C) Alphanumeric Characters D) Diseases

43, What group do the words belong 10?
ring, necklaee, earrings, bracelet ‘
A)cutlery B) weapons C) hosiery D) jewelry

44. What'is fear of heights known as?
A) Claustrophobia B) Agarophobia C) Acrophobia D) Xenophobia

45. To go by plane or helicopteristo
© A)hike B)ride ¢) sail - D) fly

46. A place where famous paintings and sculptures are kept and displayed to the public is called an
A) museum B) sanctuary C) mausoleum D) parks

47. Someone whose job is to design.buildings is
- A) teacher B) architect C) singer D) mailman

48. Choose the best alternative to replace the underlined words.
Roberi started to get out of bed, but he was s¢ weak from his illness that he famted on the ﬂoor

- A) passed out B) passed down C) passed away D) passed over
49, You mustn’t let himh treat you so badly; you must stand him and be strong.
A)for B)by Clupto . D)down

50. Something which lacks flavour or is tasteless is
A)intrepid - B) insipid C)spicy D) allegory

51, fFrfai@d & @ @l @ WS a5 3RT FER & @A Teledl §, € & WY 29T Wegd Fdl 82
Which of the following Railways line runs parallel to the Arabian Sea, offering views along the coast?
 A)FET I Central Railway B) #i&T Yerd Konkan Railway

C) ef@or 3@a Southern Railway D) uf®a# (@ Western Railway



52, 9T o & Yo it & fow vk whia Aerge 10 Yol IR Flew fRar §) e an el
v §? Indian Railways has launched an integrateé mobile app "Rail Saarthi" for railway passengers. What
does "Saarthi" stands for?

A) TS Teaies vTASRI 36 $ad g9 U3 ghiAesT
Synergised Advanced Application Rail Travel Help and [Information

B) TedIcIeh Jooid AT T TAT TEradm 3R Faar

Synchronic Advanced Application Rail Travel Help and Information
C) fo=sieTd USaEs Ueelishers Yol AT [grael 3T

Synchrounous Advanced Application Rail Travel Help and Information
D) oSt 37 ST IeT A1 HETAT AR Fa=AT

Synergic Advanced Apphcatlon Rail Travel Help and Informatton

53. FIRAsTCE & foFa-d ®9 FA g1 What is the full form of RVNL

A) I e foerd RS Rail Vikas Nigam Limited
B) Y& fawrd 3R faffieg Rail Vikas Nagar Limited

C) I Tosha A9 TIfAeE Rail Vikram Nagar Limited

D) Yod ard @aA fafAee Railways Vast Nigam Limited

54. HTRRTH —-ren-—or fea Ao Ugeh gedr & Al & S Fehh B
Paternity Leave can be sanctioned for maximum of _ days : .
-~ A) 10 1T days B) 30 fg=F days . C) 15 &= days D) 60 =T days

55817 Yord TR HoldhdT HIeA F 9HE HiA ¢

At the level of Zonal Railways, the Vigilance Organization is headed by
A) 7Igr gatsh General Manager :
B) gfisT 37 HgT Yau® Senior Deputy General Manager
C) 37X 37 FT 9§4F Additional Deputy General Manager
D) 39T HET wdush Additional General Manager

56. 14 A 9iey ¥&vs fF8 & SaT &1 A speed of 14 metres per second is the same as :
A) 28 forei/g km/hr B) 46.6 fRFEVE km/hr  C) 50.4 TRefve km/hr D) 70 fohef/a km/hr

57..aéﬂmﬁ264mm:5.10%ﬁ4aﬁ$%@mﬂwmwﬁaﬁwﬁm

What is the present worth of Rs. 264 dues in 4 years at 10% simple interest per annum?
A)170.20 B) 166 , -0 188.‘57 : - D) 17528

58. mﬁﬁaﬁa@mwmﬁﬁ%%sﬁmﬁgm%i uﬁ%a‘rﬁuﬁrﬁmﬁmm
140 €, @ 01 o 38% ganr e 3 & ' |
Anand got two and a half time as many marks in Mathematics as in History. If his total marks in the two
sﬁbjects are 140, the marks obtained by him in Mathematics are:

A) 40 B)75 Cy90 D} 100



59Wéaﬁrtrr$trtr@r5€ra'ﬁr10ﬁﬁmam3oa%ﬁngﬁrﬁmwﬁluﬁmﬁ
ursd @el €, a7 & fhael 6 F HEm? |

Pipe A can fill atank in 5 hours, pipe B in 10 hours and p1pe Cin 30 hou:s If a]I the pipes are open, in how
many hours will the tank be filled?
A)l B)2.5 C)3 D) 3.5

60. 98+23X43-22 Far §7? H9ar BODMAS B & IUAAET &y

What is 98 + 23 X 43 - 227 Please use BODMAS rules
A) 1065 B) 5181 C) 1081 D) 5965

61. wwaﬂtﬁmaﬁrmwmmﬁl Qaw‘%ﬁaﬁaamast’raTwaﬁraﬁmsrm(aq’r
#A) Far &2
The ratio of the age of a son and father is 1: 4, After 9 years, the ratio will be 2: 5. What is the present age (in

years} of the son? ,
A0 B8 _ Yo Dy12

62. T HGHT HeN T F 80% T e ¥| IR 3T H 20% F gAfr §§ ¥ 3 aw 30 oy A
10% 1 gafer weer §| sEdr o & qa el 39 ,
A man spends 80% of his income. His income is increased by 20% and he increase his éxpenditure by 10%. His
saving are increased by:

A)30% B)20 % C)32% D) 60 %

63. %@TazoooomﬁwaﬁaaﬂtsﬁzzoOOMﬁwlwarqﬁramwaﬂ

Rekha bought a scooter for Rs 20,000 and sold it for Rs 22 000. What is the p10ﬁt percentage?
AYI5% Byl2% C)20 % D) 10 %

64. Pt & @ T @1 5/8, 3/7,2/9, 4/5 & dra T Fs7 3 &7
Whibh of the following is largest fraction amongst 5/8 , 3/7,2/9, 4/57
- A)5/8 - B)3/7 C)2/9 Dy 4/5

65. 10 f&aT & forae e g &7 How many minutes are there in 10 days?
A) 14400 B} 1000 .C)= 60000 D) 24000

66. HETTTIE 2URAT 3 FePTT RATrET STT #T aX FAT &7 What is the rate of HRA in metropolitan citics?
L A)16%  B)24% C) 30% D) 8%

67. 36 gl T AT AT § S 3T U wAmnd A S § AR I9r @ @9 S8 F w9 A AR
What is the limit of distance beyond which a worker travels and traveling time of journey (reated as duty?
A)8km B)12km C) 20 km D) 30 km



68. do=TeH w1 favge ¥9 1 §? What is the full form of PNM?
A) T arar FANEY  Permanent Négotiating Machinery

B)arat fawat &1 AfFAAT Powers on Negotiation Matters
) TS FFNIeHS HIF! Passive Negating Matters
D) TATAT dhIcHeh FA Permanent Negative Machinery

69, 9t & duar S T H e ¥ ——— HAlg e Bl
PTO shall be valid for months from the date of issue?
A)4 B)5 )6 D)8

70, T AT P A B T Rfhewr s AT A ¥

Medical allowance payable to the eligible retired employee is Rs

A) 1000 B) 500 C) 800 - D) 1200
71maaﬁ$wﬁﬁmmﬁmﬁﬂaﬁaﬁmﬂw mésws‘rm‘s‘w
Employees joining training institutions as faculty members are entitled to “allowance

A)YUctelT Waiting B) 39T Running C) 9i2870T Training D) @regrest Food

72, Qe S % ST % T Fgwew WEEW G s @

Minimum gualifying service for payment of retirement gratuity is : yeafs
A)2 B)4 C)5 D) 10
73. Hog W FIAAH FAHTEST TR g
~ Minimum compensation money is Rs on death
A) 140000 B) 120000 C) 100000 D) 240000

74._Efz§TUT ‘:Iﬁ g & HETTIT & Headquarters of South Eastern Railway is
A) @zt Kharagpur B) sierahal Kolkata  C) 3T Adra D) IshtRYT Chakradharpur

75. Y8 8T wOrITeeRuT @ I & The headquarters of railway rate fribunal is
- A)@radar Kolkata B) #[ds Mumbai C) fgwer Delhi D) ¥7aAs Chennai’

76, ﬁarmwmmwﬁm#mm%
Fish plates are used in raitlway tracks to -
A) Y@ @ TEaml & ek & B fix rails to the sleepers
B) #1fr & FEIRT T foteT & FAv fix sleepers to the ground
C)a’r &l &7 SfigsT & W join two rails
D)2y RBest @ SASer & 7 join two coaches



77. B Yo7 3R aiegeT Rafaegme e v W e 8
- At which place is the National Rail and Transportation University located?
A) STFAYT Jabalpur B) 7TeTel Guwahati  C) @g1gq Vadodara D) #HFE Mysuru

78, TrfafeE & @ fha @ va 4R & T f&ar Sstar §1 Which of the following is used in pencils?
A) IFTBT Graphite B) f&fa=id Silicon ) AR Charcoal D) ﬁl':q‘ﬂw Phosporus

79. TS <Fel, ToRT UX #TRger dier Senm ¥, @ R §

‘The river Sutlej, on which the Bhakra Dam has been built, ori gihates from

A) FHIT Vernig B) dgel # 91T oo & el Bara Lucha Pass in Lahul
C) s & & 3fer Rakas Lake in Tibet D) #T 790 il Mansarovar Lake

80. AT fFeleiex ¥ Teif & Taw asT 419 Morad § 9 #i9 o1 ¥7

Which of the following is the largest zone in terms of route kilometers?
AT Yeld Western Railways B) Y& Y#d Eastern Railways

C) 39 Y@ Northern Railways D) &f&T Y Southern Railways

KIS 0 B - Tk | (—— # %i Rail Coach factory is in
A) Riedstet Chittaranjan ~ B) Fyriel Kapurthala C) "RePerambur D) T T Rae Barelli

82. #@er 1,2,3,5,8,13,21, o1 W&
Continue the series: 1,2,3,5,8, 13,21,
MM B2 OR D)4

83. dsHEe & g A, "www" T 3 &
In website addresses, "www" stands for- ‘ :
A) IS d183 99 World Wide Web B) @5 o155 X World Wide Wares

C)des a135 d¢ World Wide Wait D) deg a1s5 g World Wide War-

84. 5@l 2,5, 9, 19, 37,7 =y <&
. Continue the series: 2, 5, 9, 19, 37, ?

‘A) 76 B) 74 )75 D73
85. TR ALY famr & g §
Station Masters belong to department
A)Irard Traffic B) @1 Personnel

C) =3 Mechanical f D) ffeerer @ g7 H#uR Signal & Telecommunication



86. ST FT Y —ommmmmeem %) EOL stands for
A) e 3ﬂ'CIﬁ-T3T HAHIA Extra Opening Leave
B} "D 3T G T Earning Ordinary Leave
C) TFHIE WHer E@f Express Ordinét’y Leave -
D) e |TEmon ?’T::a Extra Ordinary Leave

87, el Sty @Y 30 da1 Shaet # e Rl aF 38 dde gedt s e S ahdr 87
How many days of LHAP can be accumutated to an employee in his service life?

A) 300 fesT days  B) 450 & days C) 600 &= days - Dyarg T & Unlimited !_

88. FEIIR F dEa 1 Vg F W@ & 00 9D B S arer e w
Standard Form used for placing a Railway Servant under Suspension is ... _ .
A) THUGR SF § B)THTH S 1 C) THTW SF 11 D) THU® SF 13

89. of ® & & W 3:4 T WA F IS 516 %a’rtr;ﬁrasraa?arqmws‘mf
If A:Bis 3:4 and B:C is 5:6 what is A:C?
LAY 36 B) 1:2 C).5:8 D) 4:5

90.afF 3 faw@ey, 2000 IR & @ 3sTrady 2001 T F=wT ar grem|
If 3rd December, 2000 was Sunday, what day was 3rd January 20017
A) YEER Friday B)sT&a Thursday — C) J&aX Wednesday D) tfdarR Sunday

91. v Hig CORNER & GSVRIV & &g & forer = &1 3@ g & CENTRAL# & o =

In a code, CORNER fis written as GSVRIV. How can CENTRAL be written in that code?
A) DFOUSBM B )GIRXVEP C)HGNFIKER D) GTYDVRE

92. 1950, 1952, 1953, 1954, 1961 = Hraa 7 F{
Find the average of 1950, 1952, 1953, 1954, 1961.
A)1953  B)1954  C)1950 D) 1955

93.77¢ Tf¥r & 25000 F¥ AYRCT A7 W 4 9Y W F I gg T 31000 @ & o surer &7 41 27
A surm of Rs. 25000 amounts to Rs. 31000 in 4 years at the rate of simple interest what is the rate of interest?

A)3% - B)4% C)S % D) 6 %

04. X 31X AT T AT 2:3 F I A {1 AR FEAF ¥ T #F ©.4000 B F AN F, o AT
AT 40:57 €1 Sar g1 o AT F AdT 41 87

Salaries of Ravi and Sumit are in the ratio 2 : 3. If the salary of each is increased by Rs. 4600, the new ratio

becomes 40 : 57. What is Sumil's salary?
A)® Rs. 17,000 B)% Rs. 20,000 Cy & Rs. 25,500 D)% Rs. 38,000
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9. af Forell Trea 12.6 7 30% ¥, & @ ... ¥

If 30% of a number is 12.6, then the number is .......

A4l - B)SI )42 D) 52

96. HCHERS U 7 FTge ¥ a1 & What is full form of RITES
A) X ST aeheliehr 311 37315 AaTT Rait india Technical & Economic Services
B) YeT sfgar awarenr 3R Sl ieT dareRail India Technical & Engineering Services
C) ¥ sf3an mmﬁa%%m s ﬁﬁ;w ETes Rail Ind‘ia Telecommunication & Electrica]hSystem
D)YE EET???I?!FT s Us sﬁﬁ'ﬁlﬂﬁﬂ ﬁ?ﬁﬂ-Rapid International Technical & Engineering System

07, BT # & e g F1 Wy a9 ad g 87

Which of the following is the largest Archipelago in the world?
A) 3 A T fAshiEaR gl Andaman & Nicobar Island B) #f@=r Malaysia

C) 8RT Indonesia D) #Atféa Maldives

08. FTSHITHIC a8 F forell He[eee # Fg W@UT AN F F AU §H gaT WS §
To apply center alignment to a paragraph in Microsoft Word we can press
A) CTRL + 8 B)CTRL-+C C)CTRL+C+ A" DYCTRLA+E

99, v fadvar St AgEERT T § Pfi AWes F 3EER Fad Hew () #F for vl e
€. A features that displays only the data in column (s) according to specified criteria in Microsoft Excel

A) Tl Formula B) ®ifea Sorting C) freefiar Filtering D) £ Pivot

100. ATSHIERT g8 H STddal &F 37d H FleT § HgedA @ M7 §
Which items are placed at the end of a document in Microsoft Word
~ A)pex Footer B) ¥ #ic Foot Note C) ¢g At End Note D) &sT Header

101, T 3R UsT F 7 FOR F yAeE & U e s w0 3udet e e S A @ e
R o & ¥ F Agr IIA™T § Which language shall be used for the purposes of communication
between the Union and a State which has not adopted Hindi as its Official Language

A) 3@ Urdu B) dfFe Tamil

C)dsiey wafds a9 Concerned Regional Languége D) 3% English

102, TS T WRRY H7 RO Br reqd 7 o

The report of committee on ofﬁcial language is submitted to the
A)Ydew weT & TFmfT Speaker of Lok Sabha  B) Irsgufer President

C) 39 Tseqfd Vice President D)WRE & #& #rgeier Chief Justice of India

11



103.@%%&:@,%%%@‘:??%%@%?

104,

103,

106,

107.

108.

109.

110.

Into how many Regions Indian states have been classified, according to Official Languages Rules?
A)3 B) 4 0) 1 D)2

for U & 3§ Y qoTy % T F BT Ry T 87

In which states Urdu has been declared as one of the Official Language? -
A) THIMAT Telangana B) #1& 9% Madhya Pradesh
C) uf¥a# F=na West Bengal D) gltamr Haryana

FET TR F FHORAT F B o Bl aemss RuiRa 87
How many Hindi courses are prescribed for Central Govt. émployees?
Al By 4 C)s D)3

Taeg TBEr Raw 9 Farr ST §2
When “World Hindi Day” is observed?

A) 12 Feralr Janumy _ B) 26 F=1adr January C) 10 SFadr January D) 25 fawe¥ December

mﬁmﬁmmﬁ%ﬂﬁmﬁmﬁﬁmmm%ﬂ
At present how many languages are enlisted in the Eighth Schedule of the Cons‘ulu‘uon‘7 '
A) 14 B)19 . C)22 D) 24

FlT B HATOR AT F TR Fecayul vy dar §7
Which Ministry takes important decisions pertaining to Official Language?
A) FTelet FATAT Law Ministry B) {1 HATHAYT Railway Ministry

O)Ig mm?:r Home Ministry gs)] T HATTY Finance Ministry

afaenst & 59 omr & gorarwr geelr grewns ey TR £

Which part of the Constitution contains provisions regarding Official Language?
A)XVI B) XVII ' CYXV D) X1V

FEOTET UeRl Sy ST e A1 §?

Which is the Official Language of Arunachal Pradesh? '
A) 35S English ' B) fg&r Hindi C)anfg Adi D) F&RY Nyishi

EE TP




